Accounting

Account Receivable

Presentation




Accounting for Receivables

* Arecetvable 1s a company’s claims for money, goods, or
Services.

* An account receivable 1s classified as a current asset
representing money due for services performed or merchandise
sold on credit.

* When an account becomes uncollectible, a bad debt expense 18
mcurred.
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Accounts Receivables |

* Most common transaction creating a receivable 1s

selling merchandise or services on account (on
credit)

* Recervables are recorded as debit to Accounts
Receivable

* Accounts receivables are normally collected within
a short period, such as 30 or 60 days

®* They are classified on balance sheet as current assets

e
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For Example:

as follows:

»  Accounts Receivable 1,000

Sales Revenue

Assume merchandise is sold on account for $1,000. The
. terms of the agreement were 2/10, n/30. The entries are

1,000




Notes Receivables ;

* Notes receivable are amounts customers owe for

which a formal, written instrument of credit has been
issued

* Notes receivable expected to be collected within a year
are classified on balance sheet as a current asset

* Notes often used for credit periods more than 60 days

* Notes may be used to settle a customer’s accounts
receivable

1 e
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Notes Receivable e

* Note receivable, or promissory note, 1s written

document containing promise to pay face
- amount, usually with interest, on demand or at
date in future

®* By signing a note, debtor recognizes debt and
agrees to pay it according to its terms

* A note is a stronger legal claim over an account
receivable
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Characteristics of
Promissory Note -

. Maker 1s party making promise to pay

. Payee is party to whom note is payable.

. Face amount 1s amount for which the note is written for

. Issuance date 1s date note is issued.

. Due date or maturity date 1s date note is to be paid.

6. Ternz of a note 1s amount of time between issuance and
due dates.

N ‘L\ N I\J —~

. Interest rate is rate of interest that must be paid on face
amount for term of the note.

T —

T ———
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Accounting for
Notes Receivable —

* Promissory note may be received by company from a
customer to replace an account receivable. The promissory

- note i1s recorded as a note receivable

* For example, a company accepts a 30-day, 129% note dated
November 21, 2016, in settlement of the account of W. A.
Bunn Co., which is past due and has a balance of $6,000.

The company records the receipt of the note as follows: |

Nov 27 Notes Receivable—W. A. Bunn Co. 6,000
Accounts Receivable—W. A. Bunn Co. 6,000
e ]
Slide 18
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Accounting for
Notes Receivable (cont.)

* At the due date, the company records the receipt of

- $6,060 ($6,000 face amount plus $60 interest) as

follows:

Dec. 21| Cash 6,060
Notes Receivable—W._A. Bunn Co. 6,000
Interest Revenue 80

[$6,080 = 56,000 + {$6,000 x 1234 x 30 = 360)].

T ——————— T
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Other Receivables =

* Other receivables include:

* Interest receivable
- * Taxes receivable -
* Receivables from officers or employees |
* Other receivables reported separately on balance sheet
* If expected to be collected within one year, classified
as current assets.
* If collecuon expected beyond one year, classified as
noncurrent assets and reported under the caption

Investments.

e e
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Uncollectible Receivables

* When selling merchandise or services on account

(on credit), some customers will not pay

* Some accounts receivable will be uncollectible

* Companies may receivables, called facforing the
recetvables

* Operatng expense recorded from uncollectble
recelvables i1s called bad debt expense,
uncollectuble accounts expense, or doubttful
accounts expense
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Thank you for listening

Questions??
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» Timing of the recognition of assets
» Determination of assets carrying amounts using both the cost model
and the revaluation model
> Depreciation charges and impairment losses to be recognized
» Disclosure requirements
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Subsequent Measurement

Revaluation Model

Revaluation

e s et S e

| Depreciate cost Depreciate revalued
over useful life amount over useful life




Scope of the standard:

This standard applies in the accounting for elements of tangible fixed
assets, except when another International Accounting Standard requires

or permits a different accounting treatment.
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Scope of the standard:

This standard does not apply to-

» Property .plant & equipment that is for sale
» Biological assets related to agricultural activity

» Mineral rights and mineral reserves
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Definition : Property, plant & Equipment (PPE)

Property Plant and Equipment defines Property Plant and
Equipment as tangible assets that-

1) are held for use in the production or supply of goods or services, for
rental to others, or for administrative purposes; and
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2) are expected to be utilized in more than one period.
5y (e St B Lgaladinl oy o a8 il (e




Other important definitions:

Cost:

Cost is the amount of cash or cash equivalent paid to acquire an asset at the time of its
acquisition and construction.

N
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Fair Value:

Fair value represents the present market price of an asset.
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Other important definitions:

Carrying amount:

Carrying amount is the amount at which an asset is recognized after deducting any
accumulated depreciation or losses.
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Formula:

Carrying amount = Acquisition cost — Accumulated depreciation

Carrying amount = at cost — accumulated depreciation — accumulated impairment

Carrying amount = Fair value — subsequent accumulated depreciation — subsequent
accumulated impairment



The cost of Property, Plant & Equipment shall be
recognized as an asset if, and only if:

a) It is probable that future economic benefits
associated with the item will flow to the entity; and

by | he cost of the item can be measured reliably.
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Depreciation is an accounting method of allocating the cost of a tangible or physical asset over its useful life or life
expectancy

Residual value :
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also known as salvage value, IS the estimated value of a fixed asset at the end of Its lease term or useful
life.

Depreciable amount :

Depreciable amount is the cost of an asset or the amount that has replaced it,
less its residual value.
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Depreciation methods:

1 .Straight line method
2. Sum of the years digits method
3. Double declining balance method

4. Units of production method




Straight line depreciation method :

O  Assumes uniform consumption pattern of economic benefits

9 The depreciation expense:

Depreciable amount

Depreciation expense

Estimated useful life

g Depreciable amount = Cost — Salvage Value




Double declining method

** Double declining depreciation rate is a fixed percentage which is

equal to double of the straight line rate.

*** If the straight line rate is 20% then twice of the straight line rate

would be 40% that is double declining rate.




Units of production method :

= Units of production method measures the amount of depreciation dividing the
total estimated units by total estimated hours.

~ Here the total estimated hours is identified by subtracting salvage value from
cost multiplying specific working hours.

(Cost — Salvage value) X Hours this year

Depreciation charge

Total estimated hours




Impairment : Definition

An impairment is the amount by which the carrying amount of an asset exceeds
its recoverable amount. Recoverable amount is the higher of an asset's net
selling price and its value in use.
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When impairment occurs-

~Significant decrease in the market value of an asset
~Significant changes in the usage of an asset
~The significant adverse effects of climate change in the value of an asset
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Example 1: Baghdad company acquires real estate at a cash cost of ID100g0y Th

- The
property contains an old warehouse the cost of removing it is of ID 6000, additiong)
expenditures are the attorney’s fee, 1D 1000, and the real estate broker’s Commjsg; i

D 8000. The cost of the land is ID115000, computed as shown below:.

Mlustration;

Cash price of property 1D 100000
Net removal cost of warehouse 6000
Attorney’s fee 1000
‘Real estate broker’s commission 8000
Total cost ID 115000

The company records the following entry of acquisition

Land - 115000
Cash/Accounts Payable 115000
To record acquisition of land at cost ID 115000




£ID 50000. Related expenditures are for sales taxes 11D 3000, insurance during

ID 500, and installation and testing 1D 1000,

of the factory machinery is ID 54500 as shown in the following illustration:

1D 50000

3000

‘ih'ce during shipping 500
tion and testing 100

ST ‘ actory machinery 1D 54500

uipm 54500
Cas| 54500

B

0 1 %j&% factory machinery at total cost of ID 54500



Example 3:

On July 1, 2012, Baghdad Company sells Equipment for ID1600g cash, ¢
Equipment -originally cost ID 60 000. As of January 1, 2012, j had aCCUmulat
depreciation of ID 41000. Depreciation for the first six months of 2012 s 1p . ed

Instruction:

Record the journal entries of the above transaction.

Solution:
July 1  Depreciation Expense 8 000

Accumulated Depreciation—Equipment 8 000

(To record depreciation expense for the first 6 months of 2012)

Cost of Equipment ID 60000
Less: Accumulated depreciation (ID41 000 1 ID8 000) 49 000

Book value at date of disposal 11000
Proceeds from sale 16 000
Gain on disposal of plant asset ID 5 000
July 1
Cash 16 000
Accumulated Depreciation- Equipment 49 000
Equipment 60 000

Gain on Disposal of Plant Assets 5 000

(To record sale of Equipment at a gain)




v ed:
. that instead of selling the Equipment for D16 000 Baghdad Comp "
' . ) e any sells
it for ID9 000. In this case, Baghdad computes a loss of ID 2 000
as

follows.
@ost of Equipment ID 60 000
[ess: i'ccumulated depreciation 49 000
_;-,5‘9;4@_{;'; at date of disposal 11000
Proce from sale 9 000
[50ss "6 disposal of plant asset ID 2 000

requir od records the sale and the loss on disposal of the plant asset as follows.

~ Cash 9 000
Accumulated Depreciation — Equipment 49 000
Loss on Disposal of Plant Assets 2 000
| Equipment 60 000

(To record sale of Equipment at a loss)




Depreciation: is the process of allocating the cost of 3 plant asset over its useful

(service) life n a rational and systematic manner. Cost allocation enables companies

to properly match expenses with revenues in accordance with the expense

recognition principle.

1. Cost: Earlier, we explained the issues affecting the cost of a depreciable asset.

Recall that companies record plant assets at historical cost, i accordance with

the measurement principle.

Useful life: Is an estimate of the expected productive life, also called service
life, of the asset for its owner. Useful life may be expressed in terms of time,
units of activity (such as machine hours), or units of output. Useful life is an
estimate. In making the estimate, management considers such factors as the
intended use of the asset, its expected repair and maintenance, and its
vulnerability to obsolescence. Past experience with similar assets is often

helpful in deciding on expected useful life. We might reasonably expect.

Salvage (residual) value: Is an estimate of the asset’s value at the end of its
useful life. This value may be based on the asset’s worth as scrap or on its
expected trade-in value. Like useful life, salvage value is an estimate. In
making the estimate, management considers how it plans to dispose of the

asset and its experience with similar assets.

4. Book value: (Cost less accumulated depreciation).



5. Depreciable base: (Cost less salvage value).
Depreciation is generally computed using one of the following methos:
1- Time- Based Depreciation Methods:
a) Straight-line method: Allocates an equal amount of  depreciape base (,
each year of assets service.
To compute depreciation expense under the straight-line method we
the following formula;

Annual depreciation= (Cost — salvage value) ~+ estimated useful life

Also we can use Straight-line rate to compute annual depreciation. Simply straight-
line rate is one divided by the number of years in the asset's service live.

For example, the straight- line rate for an asset with a five —year is one-fifth or 20%

(1+5%100%).



1: Baghdad Company purchased Machine for 1 25
le ‘

: 2 nll)
Exa the service ltve of the machine 1o pe five yearg

0000. The Company
) Durm‘g> that time, it ig
- expe J that the machine will produce 14000 units, The r
ted U

- expec

esidual or salvage valye
40000. The machine was disposed after fiye ye
is 1D |

ars of use. Actygl production

FEVE e TR ey T, PR

A T .
. the five years of the asset's life was:
during

X

: Qo
{

>
. Units produced 4 K % =
| Sy e g,

| 24000

) 36000 by T 5
46000 “MJ*&J/ , 4@% 4

; O;?Q"?j *""”’%' ,

; 5000 S Negi0250% ¢

5 16000 =, |

Total 130000 0

f*Required: | | |
R Calculate annual depreciation for the five — year using straight- line method. Roun
iall computations to the nearest Iraqi dinner.

Solution:

fAnnual depreciation = (cost- salvage value) + 5 years

= (ID 250000-40000) = ID 42000 per year

5 years |

- Also we can use straight- line rate to compute annual depreciation
%Straight- line rate = (100% = useful life) = (%100 + 5 years) = 20%
?’Annual depreciation = (ID 250000- 40000) x 20% = ID 42000

eclation pattern
b) Double Declmmg balance method: An accelerated depr

can b | W i1l
e };‘ thlS n]ethOd 1




not use depreciable base (Cost- savage value),
’ u It
ug

accumulated depreciation). So the formula wil be: ® (cogy

~

Annual depreciation= (Cost- accumulated depreciation) x (% 100+ 5
S ey

Example 2:
By using above information in example

(1) calculate the
depreciation by using Double declining balance method |

Solution:
Annual depreciation for year 1= (250000- 0) x (%100+5) x2
= 250000%%40= 100000

Book Value
Beginning Depreciation Book Value
Year of year X Rate per year = Depreciation End of year
1 ID 250000 %40 100000 150000
2 150000 % 40 60000 90000
3 90000 % 40 36000 54000
4 54000 %40 *14000 40000
5 40000 |
Total ID210000

* O " SN Y
Amount necessary to reduce book value to salvag



A — years- digeit ethod: | '
of the 1g1ts m thod: In this method the
annual depreci 1
ation

?jiSlllll’
ompute 60T
of the years digits = n(n+1)

2

ding to the following formula;

Sum

] ixanlple‘ By using above information in example (1) compute d
ute depreciation b
y

using sum-of- years-digits.

l epreciable base = (Cost — salvage) = (250000 — 40000) = 210000

n@eD) = 5(G5H) =15

2 2

Depreciable = Depreciation Book value
Year B

ase X Rate per year = Depreciation End of year

: ; mzzlio(z)OOOOO 5/15 D 70000 180000
} 3 10000 4/15 56000 124000
» M 3/15 42000 82000

2/15 28000 54000
Total oo o . i
i 15/15 ID 210000

—,——___




Activity Based Depreciation method:
2— C l y ' ~ LFay .
- ractivity method, useful life is expressed in o
- the units-of-activity 1 ; erms of
nder the unt "
y d from the asset, rather than ®loty ]ln
f production OF us¢ expected TrotH HHE dUChthan as a time Period 1 A
o
L ey
of: activity method is ideally suited to factory machinery. Under . o, Nt
- o (lt]\(]t/

method we use the following formula;
Annual depreciation = (cost- salvage value) Xproduced units

B Total estimated production units

Solution: First step 1s compute depreciation rate per unit as following;

Cost- salvage

Total estimated production units

=D 250000- 40000 =1ID 1.50 per unit

140000 Units
Units Depreciation Book value
Year Produced X Rate perunit = Depreciation End of year
1 24000 ID 1.50 ID 36000 ID 214000
2 36000 1.50 54000 160000
3 46000 1.50 69000 91000
4 2000 1.50 12000 79000
5 16000 1.50 39000% 40000
Total 130000 ID 210000

*A
mount n : ; oyt
ccessary to reduce book value to salvage value

Treatment of depreciation:



. treated as expenses shown in income ¢
at101

atement and accumulated

epreC n in the balance sheet deducted from its refaeq
ow

aﬁOﬂSh

assets, for example

Cl : _ ' | cted) equipment assets.
eprec 4 depreciation of equipment shown under (deducted) eq D

'ccumulafe

mputes depreciation on 31/12/20 or during the year, when the
any cO
e comp

dispose of the assets by recoding the following entry:
E 7 als
- ompany di

| -------Income statement
;D preciation expense------- 1mnco | .
F° 1 --------p3alance shee
iati c - equipment Balance sh
“ tion expense

nulated deprecia
Accumul

To record depreciation expense for... ... ..




aghdad Company purchased a m

Q1: On January 1, 2003 B achine for I 2200

. : . 0,7
company expects the service live of the machine to be five ye The

and it wi|
worth ID 2000 at the end of its five-year service life. During be

ars

at time ;; -

' . . ) t]g

expected that the machine will produce 100000 units Actual production ¢y,
Uring

the five years of the asset's life was:

Year Units produced

2003 22000

2004 24000

2005 15000

2006 20000

2007 21000

Total 102000
Required:

Calculate annual depreciation for the five- year life of the machine by using of the

following methods. (Round all computations to the nearest Iraqi dinner).

1- Double declining balance method.
2- Sum-of-the-years digits.

3- Units of production method.
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VALUATION OF INVENTORY : COST BASIS APPROACH
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Inventory Classification and Systems

Classification

Inventories are:

® items held for sale, or
® goods to be used in the production of goods to be sold.

Businesses with Inventory:

Merchandiser or Manufacturer

Inventories are asset items that a company holds for sale in the ordinary course

of business, or goods that it will use or consume in the production of goods to be
sold.
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Inventory Classification and Systems

Type of Business

Merchandiser ‘

® One inventory
account

® Purchase goods
ready for sale

Balance Sheet (in thousands)

Current assets

Cash $ 285,000
Marketable securities 530,000
Accounts receivable 149 000
Merchandise inventory 777,000
Prepaids 33,000

Total current assets 1,774 000

Investments:

Invesment in ABC bonds 321,657
Investment in UC Inc. 253,980
Notes receivable 150,000
Land held for speculation 550,000
Sinking fund 225,000
Pension fund 653,798




Type of Business

Manufacturer ‘

Three accounts

® Raw materials —
® Work in process

® Finished goods

—

Balance Sheet (in thousands)

Current assets

Cash $285,000
Marketable securities 530,000
Accounts receivable 149,000
Inventory
Raw materials 210,000
Work in process 417,000
Finished goods 150,000
Total inventory 777 000
Prepaids 33,000

Total current assets 1,774,000

Investments:
Invesment in ABC bonds 321,657

L’UQ
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Flow of Costs

MERCHANDISING COMPANY

Illustration 8-2

(3 :
Merchandise Inventory |
Lost of > Cost of l
poods goods l
g RawMah-ricflu purchased sold .
Actual Materials i Cost of Goods Sold
matenals used
cost
| — | — , MANUFACTURING COMPANY
Work in Process Finished Goods
Labor - ! !
| ‘ Cost of Cost of
Actual Labor —— goods i fE S Roods
'-"f.'.'1' applied ‘ : manufactured —— ""ll‘i- -8
- ’-‘\\__“,/“\- ".,—/A \‘“.r/—/‘_'—“& o
Overhead
Actual Overhead
overhead applied
cost
— ,'\\___/\‘\-
shows the differencesin the flow of costs through a D) ( "
- _ __
merChCIndIS"'lg company Gnd a mGnUfCICTUfIng company. Q




e

« Companies that sell or produce goods report inventory and cost of goods sold at
the end of each accounting period.
 The flow of costs for a company s as follows: Beginning inventory plus the cost of
goods purchased is the cost of goods available for sale. As goods are sold, they
are assigned to cost of goods sold.
 Those goods that are not sold by the end of the accounting period represent ending
inventory.
« Companies use one of two types of systems for maintaining accurate inventory
records for these costs—the perpetual system or the periodic system.
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Perpetual System A perpetual inventory system continuously tracks changes in the
Inventory account. That is, a company records all purchases and sales (issues) of
goods directly in the Inventory account as they occur. The perpetual inventory
system provides a continuous record of the balances in both the Inventory account

and the Cost of Goods Sold account. bl g i Sl ol il ISR PR S
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Periodic System Under a periodic inventory system, a company determines the
quantity of inventory on hand only periodically, as the name implies. It records all
acquisitions of inventory during the accounting period by debiting the Purchases
account. A company then adds the total in the Purchases account at the end of the
accounting period to the cost of the inventory on hand at the beginning of the
period. This sum determines the total cost of the goods available for sale during
the period.
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Inventory Classification and Systems

Control

Two systems for maintaining inventory records:
® Perpetual system
® Periodic system




Inventory Classification and Systems "

Perpetual System

Features:
1. Purchases of merchandise are debited to Inventory.

2. Freight-in, purchase returns and allowances, and
purchase discounts are recorded in Inventory.

3. Cost of goods sold is debited and Inventory is
credited for each sale.

4. Physical count done to verify Inventory balance.

The perpetual inventory system provides a continuous
record of Inventory and Cost of Goods Sold.

o




Inventory Classification and Systems

Periodic System

Features:

1. Purchases of merchandise are debited to Purchases.
2. Ending Inventory determined by physical count.

3. Calculation of Cost of Goods Sold:

Beginning inventory

$ 100,000
Purchases, net

800,000

Goods available for sale
Chapter

8-10 LO 2 Distinguish between perpetual and periodic mvenfory systems.
NN NNN _—

@
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Perpetual System vs. Periodic System
|
Beginning inventory (100 units at $7 = 700)
|
Purchase 900 units at $7: |
|
Inventory 6,300 | Purchases 6,300
Accounts payable 6,300 Accounts payable 6,300
|
Sale of 600 untis at $14: |
|
Accounts receivable 8,400 | Accounts receivable 8,400
Sales 8,400 Sales 8,400
Cost of goods sold 4,200 |
Inventory 4,200
|
Adjusting entries (ending inventory = 400 units @ $7 = $2,800)
|
No Entry Necessary | Inventory 2,100
| Cost of goods sold 4,200
| Purchases 6,300




Basic Issues in Inventory Valuation

Valuation of Inventories

Requires the following:

The physical goods (goods on hand, goods in fransit,
consigned goods, special sales agreements).

The costs to include (product vs. period costs).

The cost flow assumption (FIFO, LIFO, Average cost,
Specific Identification, Retail, etc.).
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Cost Flow Assumptions

“First-In-First-Out (FIFO)"

Inventory
Balance = $ 45

Purchase on
2/25/07 for $20

Purchase on
2/15/07 for $15

Purchase on
2/2/07 for $10

Young & Crazy Company
Income Statement
For the Month of Feb. 2007

Sales $ 90
Cost of goods sold .1
Gross profit _ 90
Expenses:
Administrative 14
Selling 12
Interest B
Total expenses _33
Income before tax 57
Taxes 17
Net Income $ 40
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Cost Flow Assumptions

"First-In-First-Out (FIFO)"

Inventory
Balance = $ 35

Purchase on
2/25/07 for $20

Purchase on
2/15/07 for $15

Purchase on
2/2/07 for $10

Young & Crazy Company
Income Statement
For the Month of Feb. 2007

Sales

Cost of goods sold

Gross profit

Expenses:

Administrative

Selling
Interest

Total expenses
Income before tax

Taxes
Net Income

9

A4
o

Bl

14
12

21,

47

b

A

Y

9,

@ )



>~/ -

J Cost Flow Assumptions )

-

< "Last-In-First-Out (LIFO)”
INVCNTOI“Y Young & Crazy Company
Balance = $ 45 Income Statement
. For the Month of Feb. 2007
Sales $ 90
Purchase on Cost of goods sold )
2/25/07 for $20 Gross profit 90
Expenses:
Administrative 14
Purchase on Selling 12
2/15/07 for $15 Interest 7
Total expenses _33
Income before tax 57
Purchase on Taxes 17
2/2/07 for $10 Net Income $ 40
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J Cost Flow Assumptions

-

< "Last-In-First-Out (LIFO)”
IﬂVCﬂ‘l’Of‘y Young & Crazy Company
Balance = $ 25 Income Statement
i For the Month of Feb. 2007
Sales $ 90
Purchase on =t=—t= Cost of goods sold _ 20
2/25/07 for $20 | , Gross profit _70
Expenses:
Administrative 14
Purchase on Selling 12
2/15/07 for $ 15 Interest 7
Total expenses _33
P Income before tax 37
urchase on Tokee 11
2/2/07 for $10 Net Income $.26
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J Cost Flow Assumptions

-

- "Average Cost”
Invem'or'y Young & Crazy Company
Balance = $ 45 Income Statement
For the Month of Feb. 2007
Sales $ 90
Purchase on Cost of goods sold _ 0
2/25/07 for $20 Grossprofit —50
Expenses:
Administrative 14
Purchase on Selling 12
2/15/07 for $15 Interest 7
Total expenses _33
Income before tax 57
Purchase on Taxes a7
2/2/07 for $10 Net Income $ 40
o .
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J Cost Flow Assumptions

-

- "Average Cost”
Invenfor-y Young & Crazy Company
Bal i) $ 30 Income Statement
SHMCE = For the Month of Feb. 2007
Sales $ 90
Purchase on Cost of goods sold 15
2/25/07 for $20 //  Gross profit 75
Expenses:
/ Administrative 14
Purchase on Selling 12
2/15/07 for $15 Interest __7
Total expenses _33
P h Income before tax 42
urcnase on Taxes 12
2/2/07 for $10 Net Income $ 30
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J Cost Flow Assumptions

F Financial Statement Summary
FIFO LIFO Average
Sales $ 90 $ 90 $ 90
Cost of goods sold 10 20 15
Gross profit 80 70 75
Operating expenses:
Administrative 14 14 14
Selling 12 12 12
Interest 7 7 7
Total expenses 33 33 33
Income before taxes 47 37 42
Income tax expense 14 11 12
Net income $ 33 $ 26 $ 30
Inventory Balance 35 25 30




FIRST-IN, FIRST-OUT (FIFO)

* THE FIFO (FIRST-IN, FIRST-OUT) METHOD ASSUMES THAT A COMPANY USES GOODS IN THE ORDER
IN WHICH IT PURCHASES THEM. IN OTHER WORDS, THE FIFO METHOD ASSUMES THAT THE FIRST
GOODS PURCHASED ARE THE FIRST USED (IN A MANUFACTURING CONCERN) OR THE FIRST SOLD
(IN A MERCHANDISING CONCERN). THE INVENTORY REMAINING MUST THEREFORE REPRESENT THE
MOSTN RECENT PURCHASES.

* TO ILLUSTRATE, ASSUME THAT CALL-MART USES THE PERIODIC INVENTORY SYSTEM. IT DETERMINES
ITS COST OF THE ENDING INVENTORY BY TAKING THE COST OF THE MOST RECENT PURCHASE AND
WORKING BACK UNTIL IT ACCOUNTS FOR ALL UNITS IN THE INVENTORY. CALL-MART DETERMINES
ITS ENDING INVENTORY AND COST OF GOODS SOLD AS SHOWN IN ILLUSTRATION

>~ & ? J



b4\\

3 z oA dauk JSFIFO

i ¢ AT ran 4 Lg i (o) i il wiliaall 203 38 53 () (V51 ey Y5l 2 ) SIFIFO (48 ke (i i
) L a3 Al (A (il Jlae ) deasitisall addl Jof o W3l i &5 3l Y1 bl GIFIFO 44,k
aUai a0AACALL-MART &) o) ¢ ena gill iy il Gaaal il ¢ g jaall Jia o)) any I (5 guatl) Jlnna
e Gl 2y s 5 a0 5 e Jaadl 5 o) i Aglae HAT 481K 240 DA (e Aledll (5 Al 4alSE dasy (5 ) sall 35l
a5l oyl 8 min e 54 LeS deliall ailiall) 441ST 5 ALl Led g 330 CALL-MART 2aa3 (55 33l 8 Cilas )



Date MNo. Units Unit Cost Total Cost
March 30 2 000 $4.75 % 9,500
March 15 4,000 4.40 17,600
Ending inventory 6,000 $27.100
Cost of goods avallable for sale $43,900
Deduct: Ending inventory 27,100
Cost of goods sold $16,800
Date Purchased Sold or lssued Balance
March 2 (2,000 @ $4.00) $ 8,000 2,000 @ $4.00 $ 8,000
March 15 6,000 @ 4.40) 26,400 2000@ 4.00 } 44400

2,000 @ $4.00 }
2000@ 4.40

($16,800)
(2,000 @ 4.75)




LAST-IN, FIRST-OUT (LIFO)

* THE LIFO (LAST-IN, FIRST-OUT) METHOD MATCHES THE COST OF THE LAST GOODS PURCHASED
AGAINST REVENUE. IF CALL-MART INC. USES A PERIODIC INVENTORY SYSTEM, IT ASSUMES THAT THE
COST OF THE TOTAL QUANTITY SOLD OR ISSUED DURING THE MONTH COMES FROM THE MOST
RECENT PURCHASES. CALL-MART PRICES THE ENDING INVENTORY BY USING THE TOTAL UNITS AS A
BASIS OF COMPUTATION AND DISREGARDS THE EXACT DATES OF SALES OR ISSUANCES.

* FOR EXAMPLE, CALL-MART WOULD ASSUME THAT THE COST OF THE 4,000 UNITS WITHDRAWN
ABSORBED THE 2,000 UNITS PURCHASED ON MARCH 30 AND 2,000 OF THE 6,000 UNITS
PURCHASED ON MARCH 15. ILLUSTRATION SHOWS HOW CALL-MART COMPUTES THE INVENTORY
AND RELATED COST OF GOODS SOLD, USING THE PERIODIC INVENTORY METHOD.
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Date of Invoice Mo. Units Unit Cost Total Cost
March 30 2,000 £4.00 $ 8,000
March 15 4,000 4.40 17,600
Ending inventory 6,000 $25,600
Goods avallable for sale $43,900
Deduct: Ending inventory 25,600
Cost of goods sold $18,300
Date Purchased Sold or lssued Balance
March 2 (2,000 @ £4.00) % 8,000 2,000 @ $4.00 $ 8,000
March 15 (6,000 @ 4.40) 26,400 2000@ 4.00 24 400

(2,000 @ 4.735)




e

AVERAGE COST

* AS THE NAME IMPLIES, THE AVERAGE COST METHOD PRICES ITEMS IN THE INVENTORY ON THE
BASIS OF THE AVERAGE COST OF ALL SIMILAR GOODS AVAILABLE DURING THE PERIOD. TO
ILLUSTRATE THE USE OF THE PERIODIC INVENTORY METHOD (AMOUNT OF INVENTORY
COMPUTED AT THE END OF THE PERIOD), CALL-MART COMPUTES THE ENDING INVENTORY
AND COST OF GOODS SOLD USING A WEIGHTED-AVERAGE METHOD AS FOLLOWS.
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@ Date of Invoica Mo. Units Unit Cost Total Cost
March 2 2 000 $4.00 $ 8,000
@ March 15 6,000 4.40 26,400
March 30 2,000 4.75 9,500
Total goods available 10,000 $43.900
£43,900 _

Welghted-average cost per unit 10,000 $4.39
Imventory in units 6,000 units
Ending inventory 6,000 » $4.39 = §26,340

Cost of goods available for sale $43,900

Deduct: Ending inventory _ 26,340

Cost of goods sold $17 580

Purchased Sold or |ssued

(2,000 @ $4.00)  $ 8,000
(6,000 @ 4.40) 26,400




END OF LECTURE

Thank you for listening

Questions??
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Accounting in English 2




There are two methods of record keeping for tracking a business’s
inventory: periodic and perpetual. The periodic method is done by taking
a physical count and costing the inventory over a specific time period
(e.g. weekly) to determine the cost of sales. The perpetual method is done
by continuously updating the inventory with each purchase and sale of
inventory.

To determine cost of sales (or cost of goods sold):

Beginning inventory (Bl) + Purchases (P) — Ending inventory (El) = Cost of
Goods Sold (CGS)

There are four different types of inventory valuation methods that can be
used for the perpetual method: (1) specific item cost; (2) first-in, first-out
(FIFO); (3) last-in, first-out (LIFO); and (4) weighted average cost. This
worksheet will cover the last three types.



Example:

Use FIFO, LIFO, and WAC to evaluate the following
inventory record.

June 1: Beginning balance was 3 units @ $20.
June 2: Purchase 8 items @ $15.

June 6: Sale of 6 items.

June 15: Purchase 4 items @ $18.

June 20: Sale of 7 items.




The beginning balance and purchases will be the el Aty ga il yidiall g o) dua )y ) S

same for all three methods. For FIFO and LIFO, JBS (LIFO SFIFO () dawilly, 43341 3 )kl
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Item description

Balance Available

Date

Purchase Received

Issued Sales

Units x Cost = Tot. Cost

June 1

Beginning Balance

3 @ $20.00 = $60.00

8 @ $15.00 = $120.00

3 @ $20.00 = $60.00
8 @ $15.00 = $120.00

3 @ $20.00 = $60.00
3 @ $15.00 = $45.00

5@ $15.00 = $75.00

15

4 @ $18.00 = $72.00

5@ $ 15.00 = $75.00
4 @ $18.00 = $72.00

20

5@ $15.00 = $75.00
2 @ $18.00 = $36.00

2 @ $18.00 = $36.00

Ending

Purchases = $192.00

CS = $216.00

Ending Inv. = $36.00




For LIFO, the newest things in the inventory
balance will be sold first. Now, on June 6, where
6 items are to be sold, there are enough of the
newest items to only sell items at $15 each. On
June 20, in order to sell 7 items, we will sell the
newest 4 @ $18, the next newest 2 @ $14, and
then one of the oldest @ $20.
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Item description

Balance Available

Date Purchase Received Issued Sales Units x Cost = Tot. Cost
June 1 Beginning Balance 3 @ $20.00 = $60.00
3 @ $20.00 = $60.00
2 8 @ $15.00 = $120.00
8 @ $15.00 = $120.00
3@ $20.00 = $60.00
6 6 @ $15.00 = $90.00
2 @ $15.00 = $30.00
3@ $20.00 = $60.00
15 4 @ $18.00 =%$72.00 2 @ $15.00 = $30.00
4 @ $18.00=%$72.00
4 @ $18.00 =%$72.00
20 2 @ $15.00 = $30.00 2 @ $20.00 = $40.00

1 @ $20.00 = $20.00

Ending

Purchases = $192.00

CS =$212.00

Ending Inv. = $40.00




For WAC, on June 2, when 8 new items @ $15 are
purchased, we take the sum of inventory value
($120 + 60) and divide by the total number of
goods (11), to get the new cost for each good
($16.36 each). This is the price we will value and
sell goods at until another purchase of inventory at

a different price (e.g., June 15). 15 e iinn alieB sl o latic ¢ 5552 o3 WAC ol il
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Item description

Balance Available

Date Purchase Received Issued Sales Units x Cost = Tot. Cost
June 1 Beginning Balance 3 @ $20.00 = $60.00
2 8 @ $15.00 = $120.00 11 @ $16.36 = $179.96
6 6 @ $16.36 = $98.16 5@ $16.36 = $81.80
15 4 @ $18.00 = $72.00 9@ $17.09 = $153.81
20 7 @ $17.09 = $119.63 2@ $17.09 = $34.18

Ending

Purchases = $192.00

CS =$217.79

Ending Inv. = $34.18




Practice Problem

1. Beginning inventory was $26,000, ending inventory was $18,000, and cost of
goods sold was $94,000. What was the amount of inventory purchased?

2. OnJanuary 1, inventory was $37,000. Inventory purchases for the month of
January were $54,000 and the inventory balance on January 31 was $19,000.
What was the cost of goods sold?

3. Beginning inventory was $41,000, inventory purchased was $72,000, and
cost of goods sold was $100,000. What was the ending inventory?

4. The following information is taken form a perpetual inventory record.
Calculate the value of ending inventory and cost of sales for the period ending
Aug 31, using: (a) FIFO (b) LIFO (c) weighted average cost.

August 1: Beginning balance was 4 @ $12
August 3: Sale of 2 items

August 5: Purchase of 6 items @ $12.50
August 8: Sale of 3 items

August 11: Sale of 3 items

August 14: Purchase of 8 items @ $13
August 16: Sale of 4 items

August 19: Sale of 3 items

August 22: Purchase of 5 items @ $13.50
August 25: Sale of 4 items

August 29: Sale of 2 items




1. beginning inventory (Bl) + Purchases (P) — Ending inventory (El) = Cost
of Goods Sold (CGS)

Purchases = CGS - Bl + EI = 94000 — 26000 + 18000 = $86,000

2. beginning inventory (Bl) + Purchases (P) — Ending inventory (El) = Cost

of Goods Sold (CGS)

37000+ 54000 — 19000 = $72,000

3. EI=CGS -BI+P

100000 — 41000 — 72000 = $13,000



4 FIFO

Item description Balance Available
Date Purchase Received Issued Sales Units x Cost = Tot. Cost

Aug. 1 Balance forward 4 @ $12.00 = $48.00

3 2 @%$12.00 = $24.00 2 @ $12.00 = $24.00

5 6 @ $12.50 = $75.00 2 @ $12.00 = $24.00

6 @ $12.50 =$75.00

8 2 @ $12.00 = $24.00 5@ $12.50 = $62.50
1@ $12.50 = $12.50

11 3 @ $12.50 = $37.50 2@ $12.50 = $25.00

14 8 @ $13.00 = $104.00 2 @ $12.50 = $25.00

8 @ $13.00 = $104.00

16 2 @ $12.50 = $25.00 6 @ $13.00 = $78.00
2 @ $13.00 =$26.00

19 3 @ $13.00 = $39.00 3 @ $13.00 = $39.00

22 5@ $13.50 = $67.50 3 @ $13.00 = $39.00

5@ $13.50 =$67.50

25 3 @ $13.00 = $39.00 4 @ $13.50 = $54.00
1@ $13.50 = $13.50

29 2 @ $13.50 = $27.00 2 @ $13.50 = $27.00

Ending Purchases = $246.50 Cost of sales = $267.50 Ending Inv. = $27.00




5 LIFO

ltem description Balance Available
Date Purchase Received Issued Sales Units x Cost = Tot. Cost
Aug. 1 Balance forward 4 @ $12.00 = $48.00
3 2 @%$12.00 = $24.00 2 @ $12.00 = $24.00
5 6 @ $12.50 = $75.00 2 @ $12.00 = $24.00
6 @ $12.50 = $75.00
8 3@ $12.50 = $37.50 2 @ $12.00 = $24.00
3@ $12.50 = $37.50
11 3@ $12.50 = $37.50 2@ $12.00 =%$24.00
14 8 @ $13.00 = $104.00 2 @ $12.00 = $24.00
8 @ $13.00 = $104.00
16 4 @ $13.00 = $52.00 2 @ $12.00 = $24.00
4 @ $13.00 = $52.00
19 3 @ $13.00 = $39.00 2 @ $12.00 = $24.00
1 @ $13.00 = $13.00
22 5@ $13.50 = $67.50 2 @ $12.00 = $24.00
1 @ $13.00 = $13.00
5@ $13.50 = $67.50




6 Weighted average cost

ltem description

Balance Available

Date

Purchase Received

Issued Sales

Units x Cost = Tot. Cost

Aug. 1

Balance forward

4 @ $12.00 = $48.00

3

2 @%$12.00 = $24.00

2 @ $12.00 = $24.00

5

6 @ $12.50 = $75.00

8 @ $12.38 = $99.04

8

3@ $12.38 = $37.14

5@ $12.38 = $61.90

11

3@ $12.38 = $37.14

2@ $12.38 =%24.76

14

8 @ $13.00 = $104.00

10 @ $12.88 = $128.80

16

4 @ $12.88 = $51.52

6@ $12.88 = $77.28

19

3@ $12.88 = $38.64

3@ $12.88 = $38.64

22

5@ $13.50 = $67.50

8 @ $13.27 = $106.16

25

4 @ $13.27 = $53.08

4 @ $13.27 = $53.08

29

2 @ $13.27 = $26.54

2 @ $13.27 = $26.54

Ending

Purchases = $246.50

Cost of sales = $268.06

Ending Inv. = $26.54




End of lecture

Thank you for listening

Questions??
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Exercise 1 :

Baghdad co. bought a machine for 22,000

The expected life time is 5 years 1 22,000
The expected worth is 2,000 2 24,000
Expected units to be produced is 100,000 unit 3 15,000
Actual production was: 4 20,000

5 21,000
Required total 102,000

Calculate depreciation over the five years using:

(straight line method \ sum of years digit method \ Double declining method \ units
produced method)



STRAIGHT LINE METHOD
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SUM OF YEARS DIGIT METHOD
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DOUBLE DECLINING METHOD

year Book value at Depreciation rate | depreciation Book value at end
beginning of year of year

22,000 40% 8,800 13,200
2 13,200 40% 5,280 7,920
3 7,920 40% 3,168 4,752
4 4,752 40% 1,900 2,852
5 2,852 40% 1,140 1,712
Salvage value
Annual depreciation rate = ( cost — depreciation ) * ( 100% \ n )* 2

(22,000 —=0)*(100% \ 5 ) * 2
40%



UNITS PRODUCED METHOD

22,000

22,000 4,400 17,600
2 24,000 0.2 4,800 12,800
3 15,000 0.2 3,000 9,800
4 20,000 0.2 4,000 5,800
5 21,000 0.2 4,200 1,600
Salvage value
Rate = ( cost — salvage ) \ estimated production units

= (22,000 - 2,000) \ 100,000

= 0.2 rate per unit



EXERCISE 2

N

1\1 Opening balance 10 * 2.00 = $ 20.00
1\1 20 * § 2.20 = § 44.00

1\15 40 * $ 2.50 = $ 100.00

1120 30 * § 2.00 = $ 60.00

1\ 31 20 * $ 2.40 = $ 48.00

Ending inventory = 55

Total inventory = 120

Using the above information, answer the following questions:

1. What is the value of closing inventory using the Weighted Average Purchase Price?
2. What is the value of closing inventory using the FIFO Method?

3. What is the value of closing inventory using the LIFO Method?
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Ending inventory = Beginning inventory + Purchase — Sale
Sale = Beginning + purchase — ending
=[10 + (20 +30 +40 +20) ] - 55

=120-55
= 65 unit sold



1) WEIGHTED AVERAGE COST
Dars |Puchase s lbdame

1\1 Opening balance 10 *$ 2.00 = $ 20.00
1\1 20 * $ 2.20 = $ 44.00 30*%$2.13=39%63.90
1\15 40*$ 250 =% 100.00 70 *% $2.34=9$163.8
1\20 30 * $ 2.00 = $ 60.00 100 * § 2.24 = $ 224.0
1\ 31 20*$2.40=3%48.00 120 * § 2.27 = $ 272.40
1\31 65 * $ 227 =$147.55 55*%$ 227 =$124.90

Weighted cost = total cost \ total units

1\1 = (20.00 + 44.00) \ (10 + 20) = $ 2.13
1\15=(63.90 + 100.00) \ (30 + 40 )= $ 2.34
1\20=(163.8+60.00)\ (70 + 30) = $ 2.24
1\ 31 =(224.0 +48.0)\(100+20)=$ 227



Em_ o

1\1 Opening balance 10 *$ 2.00 = $ 20.00
2) FIRST IN FIRST OUT  4\; 20%s§220=5 10 * $2.00 = $ 20.00
FIFO 44.00 20 * $ 2.20 = $ 44.00
1\1 40*$2.50="% 10 *$ 2.00 = $ 20.00
5 100.00 20 * $ 2.20 = $ 44.00
40 * $ 2.50 = $ 100.00
1\2 30*$200=3% 10 *$ 2.00 = $ 20.00
0  60.00 20 * $ 2.20 = $ 44.00

40 * $ 2.50 = $ 100.00
30 * $ 2.00 = $ 60.00

1\ 20*$240=% 10 * $ 2.00 = $ 20.00

31  48.00 20 * $ 2.20 = $ 44.00

" 40 * $ 2.50 = $ 100.00
30 * $ 2.00 = $ 60.00
20 * $ 2.40 = $ 48.00

1\3 10*$200= $20.00 5%*$250=2%1250
1 20 *$ 2.20 = $ 44.00 30 * $ 2.00 = $ 60.00
35*%$250=$8750 20*$ 240 = $ 48.00

65 unit $ 120.50




Date | Purchase ______[Sale _________|Balance

1\1 Opening balance 10 ¥ $ 2.00 = $ 20.00

1\1 20*$ 220 = $ 44.00 10*$ 2.00 = $ 20.00

3) LAST IN FIRST OUT 20 % $2.20 = § 44.00

LIFO 1\1 40*$250=% 10 * $2.00 = $ 20.00
5  100.00 20 * $ 2.20 = $ 44.00

40 * $2.50 = $ 100.00

1\2 30*$2.00=$60.00 10 * $2.00 = $ 20.00
0 20 * $ 2.20 = $ 44.00

40 * $ 2.50 = $ 100.00
30 * $ 2.00 = $ 60.00

1\ 20*$240=3$48.00 A 10*$ 2.00 = $ 20.00
31 20 * $ 2.20 = $ 44.00
40 * $ 2.50 = $ 100.00
30 * $ 2.00 = $ 60.00
20 * $ 2.40 = $ 48.00

1\3 20 *$2.40=$48.00 25*$250=13%62.50
1 30*$200=%$6000 10*$200= $20.00
15*%$250=$37.50 20*$2.20 =$ 44.00

65 unit $ 126.50
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